cT (cm) | YieldinBin A YieldinBinB  Yield in BinC  Yield in Bin D
10 342+09 1029+ 1.5 40.0£1.0 14.3 £ 0.6
50 33.94+0.8 872+1.3 7.73 £0.39 3.97 £0.28
100 22.67 £0.48 55.4+0.7 9.21£0.30 4.89 +£0.22

200 125+£0.5 33.8 0.8 8.66 == 0.43 4.21 +0.30
400 5.96 £0.36 18.0 £ 0.6 5.15+£0.33 1.83 £0.19
600 3.44 +£0.27 11.56 +0.49 4.28 +0.30 1.70£0.19
800 2.68 +0.24 9.49 +£0.45 3.49 +£0.27 1.024+0.14
1000 244 +0.24 8.48 +0.48 220+£0.23 0.86 =0.14
1200 1.69 £0.19 6.86 = 0.38 1.78 £ 0.19 0.72+0.12
10000 0.24 =0.07 1.85+£0.20 0.38 == 0.09 0.12 +0.05




